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S F0 44  2H%
P 3 T3 HKGE K B SRR S R 3 (I1AE ¥k 3G)
FRAKEER 9:00
oK KERERGER (hwbi)
£ . . VY &g | it ~ »
Ao R SR m | om | POl sl I T i
C C JiE me/L. | mg/L mo /L me /L me /L mg/L
1 i 5.5| 4.6 6.4] 7.80
2 i 5.7 4.7 7.6 7.87
3 i 5.0 4.7 6.3 7.84] 42.4] 51.9 109 7.1 0.05|  <0.02
4 i 5.4 4.6 6.1| 7.86
5 i 2.8 4.7 6.0/ 7.77
6 i 1.6 4.7 4.9 7.44
7 i 2.4 4.8 4.8 17.76
8 i 4.9 4.9 4.3| 17.80
9 i 6.0l 5.0 4.2 7.81
10 | 4.9 5.1 5.0/ 7.75
11| HE 6.2 4.9 5.0/ 7.55
12 | HE 4.1 4.9 4.4 17.60
13| & 6.9] 5.1 4.5| 7.65
14 | 2 6.5| 5.0 6.1] 7.70
15 | I 7.4 5.1 6.2| 7.75
16 B 5.7 5.6 6.6 7.77
17 Ei 2.0l 5.6 8.4 7.78 43.2] 52.0 86 7.2 0.07| <0.02
18 B 4.5| 5.5 8.3 7.74
19 | & 5.5| 5.1 9.2| 7.59
20 B 7.8] 5.3 8.5 7.58
21 B 2.8 5.7 8.8 7.73
22 B 3.3 5.5 7.0 7.72
23 B 3.5| 4.9 5.5|  7.62
24 B 3.7 4.8 5.7 7.71
25 B 6.0 4.7 5.3 7.72
26 B 6.5| 4.9 4.9| 17.56
27 B 9.4 5.0 4.7| 7.52
28 B 8.6 5.1 4.7 7.72
Ty 5.0 L1l 7.70] 42.8]  52.0 98 7.2] 0.06 | <0.02
4] 9. 7.87|  43.2] 52.0 109 7.2] 0.07 | <0.02
K L. _6 7.44| 42 4] 51.9 86 7.1 _0.05 <0. 02




B — k1 (AM4A)

S F0 44  2H%
P 3 T3 HKGE K B SRR AS R 3 (2B ¥k 3G)
FRAKEER 9:00
ook KERBAER (BlkH)
iR \ . 7w ® R | HED S "
IR SR e | ome | o POl el I T i
C C JiS me/L. | mg/L mo /L me /L me /L mg/L.
1 5.5| 6.3 0.5| 7.50
2| M 5.7 6.3 0.7 7.45
3 & 5.0] 6.3 0.5| 7.47] 40.0| 51.2 117 8.8 <0.03] <0.02
4] 5.4 6.4 0.7| 7.53
5| M 2.8 6.3 0.5| 7.44
6| M 1.6 6.2 0.4 7.47
7| W 2.4 6.3 0.5 7.47
8| M 4.9 6.2 0.5 7.47
9| M 6.0 6.4 0.5 7.48
10 i 4.9 6.7 0.5| 7.46
11] I 6.2 6.7 0.7/ 7.20
12| W 4.1 6.8 0.7 7.24
13| 2 6.9] 6.8 0.4 7.33
14| 2 6.5| 6.8 0.5 7.40
15| W 7.4 6.9 0.6 7.43
16| I 5.7 7.0 0.8 7.41
17] 2.0l 6.9 0.7 7.42] 40.8] 52.4 77 9.0 0.05|  <0.02
18| I 4.5 6.6 0.9 7.41
19 = 5.5 6.6 0.8 7.40
20| I 7.8] 6.8 0.7 7.23
21 I 2.8 7.0 0.7 7.43
22| I 3.3 6.6 0.8 7.40
23| I 3.5| 6.5 0.8 7.25
24| I 3.7 6.4 0.8 7.44
25| I 6.0l 6.6 0.7 7.43
26| I 6.5| 6.7 0.7 7.22
27| I 9.4 7.0 0.6 7.37
28| I 8.6 7.0 0.5| 7.41
A5 6. 7.40| 40.4] 51.8 97 8.9] <0.03 | <0.02
5 9. 7.53]  40.8] 52.4 117 9.0/ 0.05 | <0.02
K L. 6. 7.201 40.0/ 51.2 77 8.8 <0.03 | <0.02




